restart
SG = y(x) =C[1]-exp(3-x) + C[2]-exp(2-x)
SG=y(x)=C, G3X+C2 e
DSG = % y(x) =3¢ e 20

DDSG = diff (DSG, x)
2
DDSG = ﬁ y(x)=9C, & +4C, "

Sist == DSG, DDSG : Sist[1]; Sist[2]
% y(x)=3C & +2C, "
d2 _ 3x 2x

gy(x) =9C,e"+4C,e

with(linalg) :

Para = solve( {Sist}, {C[1], C[2]}) : Para[1]; Para[2]

i =2 (o)

EDOL := lhs(EDO) -6 — rhs(EDO) -6 =0
2

— a s (4 _
EDOL =6y(x) + 2 y(x) (dx y(x)) 0

SP := subs(C[1]=-1, C[2]=3, SG)
SP=y(x) =-&*+3 e

> plot(rhs(SP), x=-1.12)
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> restart
> Ecua == (x--2 +y(x)--2+1) =2-x-y(x)-diff (y(x), x)

Ecua = -|-y(x)2 +1—-2xy(x) (

0
y(x)) ~0

& |

> with(DEtools) :

> Tipo = odeadvisor(Ecua)
Tipo := [ _rational, Bernoulli]

> FactInt == intfactor(Ecua)

Fact]nt:=L2
i X
> M=x"+1>+1
i M:=x2+y2+l
> N:=-2xy
N=-2xy

> CompUno = simplify(diff (M, y) —diff (N, x)) =0
CompUno :=4y=0

iPOR LO QUE LA EDO NO ES EXACTA
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MM = expand(Factlnt-M); NN = Factlnt-N
2
mm=1+ 2 4L
X X

o

NN = -
X

CompDos = simplify(diff (MM, y) — diff (NN, x
CompDos =

)) =0
0=0
IntMMx = int(MM, x)

2
IntMMx = x — y _1

X X
y)=C[1]
1
X

SolGral :=x — yo_ 2 =C1
X

SolGral == IntMMx + int( (NN — diff (IntMMx, y) ),
2

SolPart := subs(C[1]=1, SolGral)

2
SolPart :=x — y _1 =1
X X

with(plots) :
implicitplot(SolPart, x =-10..10, y=-10..10)
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101

restart
Ecua == y(x)--3+2-(x- 2—xy ) -diff (y ) =0

Ecua :=y(x ) +2 (x —xy(x )2) (%y(x)) =0
CondIni == y(Pi) =8

CondIni =y(m) =8

with(DEtools) :
odeadvisor(Ecua)

[[_homogeneous, class G, rational]
EcuaDos = eval(subs(y(x ) —u( )x, Ecua))

EcuaDos = u(x ) © 42 (x —x3u(x)2) ((% u(x))x—i—u(x)) =0

EcuaDosPrima = simplify(isolate( EcuaDos, diff (u(x), x)))
(

EcuaDosPrima .= % u(x) = '% uxxzu((u( )x _ 1)2)
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> SolGral = int I , U +int(%,x)=€[l]

(5 e

SolGral = % In(«*x —2) +In(u) +In(x) =C,

> SolGralFinal == subs(u = %, SolGral)

2
SolGralFinal == ~ ln(y— —2) +1n(l) +1In(x) =,
2 X X

(> Para == subs(x =Pi, y =8, lhs(SolGralFinal)); evalf (%, 3

)
Para :=%1n(6—4 —2) +ln(§) —I—In

T T
3.53

=> SolPart '= subs(C[1]=Para, SolGralFinal)
2

SolPart := 1 ln(y— —2) +ln(l) + In(x) -1 ln(ﬂ —2) +ln(§j +In(m)
2 x x 2 T T

;> with(plots) :
> implicitplot(SolPart, x =3 ..20, y=0..20, scaling = CONSTRAINED )
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